






11. Which of the following statement is not true for glucose ?

Xywdksl ds fy, dkSu lk dFku lR; ugha gS \
(1) Glucose exists in two crystalline forms  and 
(2) Glucose reacts with hydroxylamine to form oxime.
(3) Glucose gives Schiff's test for aldehyde.
(4) The pentaacetate of glucose does not react with hydroxylamine to give oxime.

(1) Xywdksl nks fØLVyh; :iksa  rFkk  esa feyrk gSA
(2) Xywdksl] gkbMªkfDly,sehu ds lkFk vfHkfØ;k djds vkWDlkbe cukrk gSA
(3) Xywdksl] ,fYMgkbM ds fy, f'kQ+ ijh{k.k nsrk gSA
(4) Xywdksl dk isUVk,slhVsV vkWDlkbe cukus ds fy, gkbMªk WfDly,sehu ls vfHkfØ;k ugha djrkA

Ans. (3) 
Sol. Open chain form of glucose is very very small, hence does not gives Schiff's test. 

Xywdksl dh [kqyh J`a[kyk cgqr de ek=kk esa gksrh gS] blfy, ;g f'kQ&ijh{k.k ugha nsrk gSA  

12. Arrange the following compounds in increasing order of C–OH bond length :
Methanol, phenol, p-ethoxyphenol
(1) methanol < phenol < p-ethoxyphenol (2) phenol < methanol < p-ethoxyphenol 
(3) phenol < p-ethoxyphenol < methanol (4) methanol  < p-ethoxyphenol < phenol 

fuEu ;kSfxdksa dks C–OH vkcU/k yEckbZ ds c<+rs Øe esa O;ofLFkr dhft, %
esFksukWy] QhukWy] p-,FkkDlhQhukWy
(1) esFksukWy < QhukWy < p-,FkkDlhQhukWy (2) QhukWy < esFksukWy < p-,FkkDlhQhukWy 

(3) QhukWy < p-,FkkDlhQhukWy < esFksukWy (4) esFksukWy < p-,FkkDlhQhukWy < QhukWy 
Ans. (3) 
Sol. There is not any resonance in CH3–OH. Resonance is poor in p-Ethoxyphenol than phenol. so C-OH

bond length order is: CH3–OH > p-ethoxyphenol (p-EtO-C6H4–OH) Ph–OH

CH3–OH esa dksbZ vuqukn ugha gksrk gS p-,FkkDlhQhukWy esa fQukWy dh rqyuk esa nqcZy vuqukn ik;k tkrk gSA
vr% C-OH caU/k yEckbZ dk Øe % CH3–OH > p-,FkkDlhQhukWy (p-EtO-C6H4–OH) > Ph–OH

13. For the Balmer series in the spectrum of H atom,
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R , the correct statements among (I) to 

(IV) are : 
(I) As wavelength decreases, the lines in the series converge  
(II) The integer n1 is equal to 2   
(III) The lines of longest wavelength corresponds to n2 = 3  
(IV) The ionization energy of hydrogen can be calculated from wave number of these lines 

gkbMªkstu ijek.kq ds LisDVªe esa ckej Js.kh ds fy, % 
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R , (I) - (IV) esa lgh dFku gSa % 

(I) tSls&tSls rjaxnS/;Z ?kVrh gS] Js.kh esa ykbusa vfHklfjr djrh gSA 
(II) iw.kk±d n1 2 ds cjkcj gSA 
(III) nh?kZre rjaxnS/;Z dh ykbusa n2 = 3 ds vuq:i gksrh gSaA 
(IV) bu ykbuksa dh rjax la[;k ls gkbMªkstu ds vk;uu ÅtkZ dh x.kuk dh tk ldrh gSA  
(1) (I), (III), (IV)  (2) (I), (II), (IV)  (3) (II), (III), (IV) (4) (I), (II), (III) 

Ans. (4) 
Sol. Theory based. 

Sol. lS)kfUrd 














